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Section : Section A

Q.1 Fill in the blank to complete the following sentence by using the correct adverb.
Your friend is a gentlemanly person. He always behaves

Ans  # A gently
2% B.gent
X C.gentle
X D. genteel

Question ID : 630680776332
Status : Answered
Chosen Option : A

Q.2 Consider the Grammar G (V={S},T={a,b},S,P) where V is a non-empty set of variables
or non-terminals, T is a set of terminals, S is a start symbol and P is a set of
production rules given as follows:

S—aSb,S—ab
Then the language generated by the grammar is accepted by:

Ans X A. both, non-deterministic finite automata and pushdown automata
25 B. non-deterministic finite automata
4 C. pushdown automata

25 D. deterministic finite automata

Question ID : 630680137083
Status : Answered
Chosen Option : C

Q.3 What is the output of the following code if the input is corona virus disease?

int main()
{
char name[30];

printf("\n enter name");
scanf("%s",name);
gets(name);

printf{"\n %bs",name);
return 0;

Ans X A. corona virus
X B. corona
X C. corona virus disease

«” D. virus disease

Question ID : 630680138096
Status : Answered
Chosen Option : D
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Q.4 2’s complement of the binary number 101010101011100 is:
Ans X A.010101010100111

7% B.010101011000100
25 C.011111010100100
«” D.010101010100100

Question ID : 630680215481
Status : Answered
Chosen Option : D

Q.5 Contiguous allocation method is one of the disk space allocation methods. In
this,
Ans X A. all the pointers to scattered blocks are placed together in one location
7% B. linear search to find a file
7% C. each file is a linked list of disk blocks

«” D. each file must occupy a set of contiguous blocks on the disk

Question ID : 630680140004
Status : Answered
Chosen Option : D

Q.6 Which memory may be written only once and is non-volatile?
Ans  # A.PROM

X B.EPROM
X C.EEPROM
X D.RAM

Question ID : 630680192608

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.7 In 1279 AD, who among the following governors of Bengal revolted against Balban, the
Sultan of Delhi?

Ans X A.Kuhslu Khan
#X B. Bughra Khan
75 C. Qutlugh Khan
«# D. Tughril Khan

Question ID : 630680326430
Status : Not Answered
Chosen Option : --

Q.8 Which of the following statements about validation-based protocol is INCORRECT?
Ans X A. Temporary value is validated against the actual data.

" B. Termination phase executes at the end of the validation-based protocol
K C. After validation, results are written to the database.

25 D. In the read phase, the transaction T is read and executed.

Question ID : 630680121139
Status : Not Answered
Chosen Option : ==

2/26



5/23/24, 4:27 PM cdn.digialm.com/per/g01/pub/1139/touchstone/AssessmentQPHTMLMode 1/LMRCL241/LMRCL241S1D591/1715842601567 ...

@9 \What is the output of the following code?

#include «<stdio.h>
int i=110;
int main()
{
do
{
if(i)
printf("if");
else
printf("else");
twhile(1);
return 0;
}
Ans X A. if will be printed once
75 B. The program will print else 10 times
” C. The program will print else infinitely

25 D. else will be printed once

Question ID : 63068066220
Status : Answered
Chosen Option : C

Q.10 What should come in place of the question mark (?) in the given series?
18, 37, 56, 75, 94, ?
Ans X A 111
X B. 114
X C. 112
& D. 113

Question ID : 630680531737
Status : Answered
Chosen Option : D

Q.11 The value of
27+3 - 27%0 + 1=

Ans X A.-18
& B.10
X c.12
X D.13

Question ID : 630680751108
Status : Answered
Chosen Option : B

Q.12 Consider the following statements regarding program counter PC, and select the
correct option.
P1 - After the fetch cycle, the program counter incremented its value by one.
P2 - Program counter is a buffer.

Ans X A.Both P1and P2 are true.
25 B. Both P1 and P2 are false.
4 C. Only P1is true.
75 D. Only P2 is true.

Question ID : 630680192596
Status : Answered
Chosen Option : C

Q.13 Which of the following is true about three-address code?
Ans X A.There is at least one operator on the right side of the instruction.

X B. There are many operators on the right side of the instruction.
25 C. There is no operator on the right side of the instruction.

" D. There is at most one operator on the right side of the instruction.

Question ID : 63068063150
Status : Answered
Chosen Option : A
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Q.14 If you apply binarysearch techniques to search an element in the given list of arrays
[-15,-6,0,7,9,23,54,82,101,112,125,131,142,151], then the number of comparisons
required for searching the elements -14 and 151 are as follows , respectively.

Ans X A 15and 14
' B.5and 4
X C.5and5
7 D.4and4

Question ID : 630680183048
Status : Answered
Chosen Option : D

Q.15 A quadruple (quad) contains 4 fields that are:
Ans X A. op,argl, result! and result2

X B.op, arg1, arg2 and arg3
« C.op, arg1, arg2 and result
X D.op1, op2, op3 and arg

Question ID : 63068063151
Status : Answered
Chosen Option : C

Q.16 Consider relations R1(A,B,C),R2(B,E) and R3(C,E) that contains 400,500 and 3000
tuples, respectively. Compute the maximum size (in tuples) of the resulting relation
produced by the following relation:R1 x R2 x R3.

Ans X A. 500
 B.3000
4 C.400*500*3000
2 D. 400

Question ID : 63068066235
Status : Answered
Chosen Option : C

@17 The set of strings X = {b,c} that have 10 consecutive b’s is:

Ans X A. context sensitive
25 B. context free
«” C.regular

X D. recursive

Question ID : 630680196321
Status : Answered
Chosen Option : C

Q.18 Consider a circuit-switching network, in which there is a common shared link of
capacity 150 Mbps. There are N number of users, each require a bandwidth of 25
Mbps. How many maximum simultaneous cor 1(s) can be p ible in such type
of network? Assume negligible band gap.

Ans X A. Zero

«” B.One

2 C.Six
& D. Three

Question ID : 630680200668
Status : Answered
Chosen Option : C

Q.19 Fatehpur Sikri was built by
Ans X A.Humayun

" B. Akbar
25 C. Shahjahan
72X D. Babur

Question ID : 630680339399
Status : Not Answered
Chosen Option : --
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Q.20 An intermediate router has received a packet and performed the necessary operation
of packetizing on it, which introduces some error in the packet and forwarded it to the
next leg in the communication path. When will this error be detected?

Ans X A.Atnext router in the path.
” B. At the receiver end.
X C. At data link layer on the next device in the path.

#5 D. Error cannot be introduced at router as the router only forwards the packets, as per
information in routing table.

Question ID : 630680200687

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 Suppose a communication follows the TCP transport algorithm. What would be the
desirable bandwidth for a network with 30 ms RTT and the 45 KB of TCP window size?

Ans X A. 108 Kbps
2 B. 1500 Kbps
X C.10.8 Kbps
" D. 12 Mbps

Question ID : 630680200688
Status : Answered
Chosen Option : D

Q.22 In the year 2014, the Namami Programme was approved as a ‘flagship
programme’ by the Government of India.

Ans  # A Gange
X B. Krishne
X C. Narmade
25 D. Yamune

Question ID : 630680511074
Status : Answered
Chosen Option : A

Q23 What is the number of bi-connected components in the graph below?
(Ly— (2
¥ z

1

bl

Ans X A.2
o B.1
X cC.10
X D.5

Question ID : 630680120467
Status : Not Answered
Chosen Option : --

600
KAa—
5 km/h

X B.72 km/h

X C.52km/h

750
WD ——
1 km/h

wsSP> BN

QFor a trip of 800 km, a truck travels the first 300 km at a speed of 50 km/h. At what speed should it cov

€

- the remaining dista
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Q.25 Which of the following is NOT an example of implicit cost?
Ans X A. Owner’s own salary not taken as a manager

7% B. Imputed rent of the house
75 C. Imputed interest on capital

«” D. Salary of the manager

Question ID : 630680195197
Status : Answered
Chosen Option : D

Q26 What is the value of —5*9/+6—8%—3*7+!1?
Ans X A -2

X B.12

« C.-21

X D.-12

Question ID : 630680138098
Status : Not Answered
Chosen Option : --

Q.27 Seven friends, S, U, R, N, A, M and E, are sitting around a circular table facing the
centre. E sits immediately to the right of R. A sits second to the right of E. A sits
second to the left of U. Only A sits between S and M. Who sits to the immediate left of
N?

Ans X A M
X B.R
xcs
& D.U

Question ID : 630680546325
Status : Answered
Chosen Option : D

Q.28 Fill in the blank to complete the following sentence by using the correct article.
I shall be back in less than hour.

Ans X A a
25 B. No article is required.
o C.an
X D.the

Question ID : 630680776328
Status : Answered
Chosen Option : C

Section : Section B

Q1 is NOT a benefit of threads.
Ans X A. Minimising the context switching time

25 B. Providing concurrency within a process
4 C. Lack of support for efficient communication

75 D. Utilisation of multiprocessor architectures

Question ID : 630680140003
Status : Answered
Chosen Option : A

Q.2 The Buxa National Park is located in which of the following states?
Ans  # A. West Bengal

X B. Punjab
#5 C. Chhattisgarh
X D. Karnataka

Question ID : 630680511170
Status : Not Answered
Chosen Option : --
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Q.3 Consider the given set of 5 processes whose arrival times and burst times are as shown:

Process Id  |Arrival time |Burst time
Pl 3 4
P2 5 3
P3 0 2
P4 5 1
PS5 4 3

For the given above table If the CPU scheduling policy is FCFS non-pre-emptive method then, calculate
the average turnaround time.

Ans X A6
X B.32
X cC.a8
& D.58

Question ID : 63068061907
Status : Answered
Chosen Option : D

Q.4 Arouter has received an IP packet and calculated the header checksum. A mismatch
has been found in the received IP packet. Which protocol will now fetch the source IP
address from the corrupted packet and inform to source about this parameter
problem?

Ans X A.IP
¥ B.TCP
« C.ICMP
% D.IGMP

Question ID : 63068099786
Status : Answered
Chosen Option : C

Q.5 A MAX priority queue with 5 elements and the level-order traversal of the queue is
given below:
10,8,5,4,3

Two elements’2’and ‘9’ are inserted into the heap in that order. The level-order
traversal of the heap after the insertion of the elements is:

Ans X A.10,8,9,234,5
& B.10,8,94,325
#C.10,8,9,5,4,3,2
7 D.10,8,9,3,4,2,5

Question ID : 63068065197
Status : Answered
Chosen Option : B

Q.6 Consider the following statement and identify the correct statement(s).
(i) Instantaneous descriptions cannot be designed for a Turing machine.
(ii) L is recognised by a Turing machine with a two-way infinite tape if, and only if, it is
recognised by a TM with a one-way infinite tape.

Ans X A. Only (i)

« B. Only (ii)

7 C. Both (i) and (ii)
25 D. Neither (i) nor (ii)

Question ID : 630680137094
Status : Not Answered
Chosen Option : --

Q.7 Seven people, K, L, M, N, A, B and C are sitting in a straight line, facing north. Only two

people sit to the left of M. Only three people sit between M and A. Only one person sits
between A and B. N sits to the immediate left of L. C is not an immediate neighbor of A.
How many people sit to the right of K?

Ans X A.Three
«” B.One
25 C. Four
25 D. Two

Question ID : 630680408750
Status : Answered
Chosen Option : B
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Q.8 Consider the given statements and select the true statement with reference to
symbolic micro-instructions.

Ans X A.Link loader is used to convert symbolic instructions into binary.
X B. Interpreter is used to convert symbolic instructions into binary.
4« C. Assembler is used to convert symbolic instructions into binary.

X D. Compiler is used to convert symbolic instructions into binary.

Question ID : 63068094449
Status : Answered
Chosen Option : C

Q.9 What to do to terminate a half-open connection (at the sender) in a TCP connection
scenario if all DISCONNECTION REQUEST (DR) segments (FIN and ACK, if any) is lost
in the transition?

Ans X A. Automatically terminates after timeout of the last DR from the receiver
27X B. Half open connection automatically terminates if any party have sent DR
X C. Automatically terminates after timeout of the first DR

4 D. Automatically terminates after timeout of the last DR from the sender

Question ID : 630680136047
Status : Not Answered
Chosen Option : --

Q.10 For a 6-bit synchronous counter with parallel carry, find the maximum clock frequency
if the propagation delay of 1 flip-flop is 50 ns and the propagation delay from input to
output of the control gating circuit is 175 ns.

Ans X A 3.33MHz
o B.4.44 MHz
% C.2.22 MHz
2 D. 1.1 MHz

Question ID : 630680215482
Status : Not Answered
Chosen Option : --

Q.11 To which of the following deities is the Rajarajesvaram temple of Tanjore dedicated?
Ans ¥ A Shiva

7% B. Krishna

X C.Vishnu

X D.Rama

Question ID : 630680163719
Status : Not Answered
Chosen Option : --

Q.12 Fill in the blank to complete the following sentence by using the correct adjective.
It looks so delicious. Pasta is an cuisine.

Ans X A ltaly’s
5 B. ltaly
«” C. ltalian
25 D. ltalic

Question ID : 630680776329
Status : Answered
Chosen Option : C

Q.13 Fill in the blank to complete the following sentence by using the correct preposition.
Please let me have your answer the end of the month at the latest.

Ans A by
X B.at
& C.in
7% D. around

Question ID : 630680776334
Status : Answered
Chosen Option : A
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Q.14 Given the relation
Student (name varchar (5),age number(3),date_of_joining date)
which of the following queries will insert a row in the given relation successfully?

Ans X A. Insert into student values(“Mohan”,23,'5-4-2019’)
X B. Insert into student values(‘Mohan’,23,"5-4-2019")
4 C. Insert into student values(‘Mohan’,23,'5-4-2019’)
25 D. Insert into student values(‘Mohana’,23,'5-4-2019")

Question ID : 630680111688
Status : Answered
Chosen Option : A

Q.15 Who introduced the ceremonial practices of Sijda and paibos in his court?
Ans A Balban

X B. Qutbuddin Aibak

X C. litutmish

X D. Razia Sultana

Question ID : 630680309311
Status : Not Answered
Chosen Option : --

Q.16 In a certain code language,

A % B means ‘A is the father of B’,

A @ B means ‘A is the brother of B,

A # B means ‘A is the mother of B’,

and A & B means ‘A is the wife of B’.

Howis Mrelatedto Yif' M#O0 & L% D@ Y’?
Ans & A Mother's mother

75 B. Mother's father

25 C. Mother's sister

25 D. Mother's brother

Question ID : 630680585208
Status : Answered
Chosen Option : A

Q.17 Priority queues can be efficiently imp ted by

Ans X A.linked list

" B. heap data structures like binary heap, Fibonacci heap
X C.arrays

X D. graphs

Question ID : 63068065417
Status : Answered
Chosen Option : B

Q.18 If unwanted words have to be deleted and new words to be inserted, one at a time,
then the register to differentiate between active and inactive words is:

Ans X A.index register
75 B. control register
X C. status register
«” D. tag register

Question ID : 63068094471
Status : Not Answered
Chosen Option : --

Q.19 We can construct a binary tree if:
Ans  # A results of in-order and post-order traversals are given

27X B. the result of only the pre-order traversal is given
X C. the result of only the in-order traversal is given

X D. results of pre-order and post-order traversals are given

Question ID : 630680120464
Status : Answered
Chosen Option : A
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Q.20 After decreasing 50% in the price, the cost of an article is ¥1068. The actual cost (in ¥)
of the article is:

Ans X A.534
X B.1988
X C.876
« D. 2136

Question ID : 630680745720
Status : Answered
Chosen Option : D

Q.21 What will be the effective way to find the value in the list of cases in switch
statements?

Ans X A.We can't use conditional jumps for the same.
«” B. If the number of cases is large, then we can construct hash table for the values.
X C. If the number of cases is large, then we can use sequence of conditional jumps.

X D. If the number of cases is small, then we can construct hash table for the values.

Question ID : 630680133944
Status : Not Answered
Chosen Option : --

Q.22 Operand forwarding is also known as:
Ans  # A data forwarding

27X B. data dependency
X C. data hazard
25 D. stall

Question ID : 630680199546
Status : Answered
Chosen Option : A

Q.23 Specify the statement.
$1- Stack allocation would not be feasible if procedure calls did not nest in time.
S2- The sequence of procedure calls corresponds to post order transversal of
activation tree.

Ans X A. Only S2is true
«” B. Only S1is true
#% C. Both S1 and S2 are false
X D. Both S1 and S2 are true

Question ID : 630680133945
Status : Not Answered
Chosen Option : --

Q.24 Let G4 and G, be arbitrary context-free grammars (CFG’s). Here, which of the following
problems is NOT an undecidable problem ?

Ans % A L(G,) N L(G,) is a context-free language
B L(G,) UL(G,) is a context-free language
X ¢ L(G,) is a context-free language
X 0. L(Gy) = L(G,)

Question ID : 630680139134
Status : Answered
Chosen Option : B

Q.25 Who is the winner of the 32" GD Birla Award for Scientific Research?
Ans X A. Narayan Pradhan

" B. Neelesh B Mehta
7% C. Suman Chakraborty
7% D. Rajeev Kumar Varshney

Question ID : 630680266245
Status : Not Answered
Chosen Option : --
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Q26 \What is the output of the following program?

#include<stdio.h>
main()

{

}

Ans ¥ A. No output
5 B. Compile error
75 C. Runtime error
75 D. Garbage

Question ID : 63068066218
Status : Answered
Chosen Option : A

Q.27 Two stations A and B are 1800 km apart. A train starts from A towards B at 7 a.m. at a
speed of 100 km/h. Another train starts from B towards A at 8 a.m. at a speed of 325
km/h. At what time will they cross each other?

Ans X A.9am.
X B.11am.
2 C.3p.m.
' D.12pm.

Question ID : 630680751116
Status : Answered
Chosen Option : D

Q.28 Let us consider Address, which can take single or several values. Treating Address as
alan permits designers to have multiple addresses associated with them.

Ans X A. relation
X B. entity
X C.value

«” D. multi valued attribute

Question ID : 630680111685
Status : Answered
Chosen Option : D

Section : Section C

Q.1 The value of
{4-3x[7-8x (2x4 -10)]}=

Ans X A.65

X B.-25

K C.73

« D. 65

Question ID : 630680751107
Status : Answered
Chosen Option : D

Q.2 Read the given stat ts and lusions carefully. Assuming that the information

given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All bags are wallets.
All wallets are ties.
All ties are hats.

Conclusions:
() All bags are ties.
() All wallets are hats.

Ans X A. Only conclusion Il follows
#5 B. Only conclusion | follows
75 C. Neither conclusion | nor Il follows

" D. Both conclusions | and Il follow

Question ID : 630680729626
Status : Answered
Chosen Option : D
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Q.3 The Lushai hills are also known as
Ans X A. Garo hills

& B. Naga hills
X C. Patkai Bum hills
" D. Mizo hills

Question ID : 630680511126
Status : Not Answered
Chosen Option : --

Q.4 Object orientation was first introduced in Simula in which year?
Ans X A 1974

2 B. 1951
o C.1967
2 D. 1943

Question ID : 630680133939
Status : Not Answered
Chosen Option : --

Q.5 Fill in the blank to complete the following sentence by using the correct form of the
verb.
A schoolboy a purse full of money lying in the gutter. (find)

Ans X A. has been found
X B. founded
X C.is finding
«” D. found

Question ID : 630680776337
Status : Answered
Chosen Option : D

Q.6 Which of the following is NOT an ability of address sequencing?
Ans X A.Incrementing of the control address register

25 B. Facility for subroutine call and return
25 C. Branch depending on status bits

4" D. Microinstruction in data register

Question ID : 630680192598
Status : Answered
Chosen Option : B

Q7 Ifthe radius of the right circular cylinder is increased by 2 em and its curved

surface area increased by 264 cm?, then the height of right circular cylinder is
equal to:

(Take 7 = =)

Ans X A.18cm
« B.21cm
X C.15¢cm

X D.24cm

Question ID : 630680373901
Status : Answered
Chosen Option : B

Q.8 What is the real meaning of the given sentence?
‘File organisation is a logical relationship among various records.

Ans X A. It describes how file records are mapped onto database table.
«” B. It describes how file records are mapped onto disk blocks.
25 C. It describes how database tables are logically related in some specified manner.

25 D. It describes how database tables are logically joined but not physically.

Question ID : 630680121128
Status : Answered
Chosen Option : D
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Q.9 Aggregate demand refers to the total demand for final goods and services in an
economy during a year. Which of the following is NOT one of the components of
aggregate demand?

Ans X A. Private investment
27X B. Private consumption
«” C. Money supply
25 D. Demand for net exports

Question ID : 630680195232
Status : Not Answered
Chosen Option : --

Q.10 Which of the following statements is true?
Ans X A. Delete does not lock the table at all.

X B. Delete does not lock any row during deleting.
«” C. Delete locks only one row that is to be deleted.

X D. Delete locks the row as well as the table.

Question ID : 63068063107
Status : Not Answered
Chosen Option : --

Q.11 Which of the following mentioned technologies has been used in the first generation
mobile communication system to transmit the voice over analog signal?

Ans X A. Wideband Code Division Multiple Access (WCDMA)
7% B. Global System for Mobile communication (GSM)
«” C. Advanced Mobile Phone System (AMPS)

X D. Universal Mobile Telecommunications System (UMTS)

Question ID : 630680200666
Status : Not Answered
Chosen Option : --

Q.12 Which of the following land revenue systems is also known as ‘Todar Mal’s
bandobast’?

Ans X A. Batai
X B.lqta
7% C. Dahsala
” D. Zabti

Question ID : 630680163723
Status : Not Answered
Chosen Option : --

Q.13 T is the father of M. M is the husband of N. L is the sister of N. Z is the daughter of M.
How is L related to Z?

Ans X A.Husband's sister
X B. Father's mother
«” C. Mother's sister
75 D. Mother's mother

Question ID : 630680467723
Status : Answered
Chosen Option : C

Q.14 Which of the following languages CANNOT be accepted by Deterministic Pushdown
Automata?

Al x A L={wewR:iwE (a,b)}
x8 L={a"b™n=1}
x ¢ L= {a"h®:n =0}

« 0. L={wwk:wEe (ab)*}

Question ID : 630680137085
Status : Answered
Chosen Option : D
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Q.15 3
Solve the recurrence. T(n) =49T (i) +nz logn

Ans 5
KA n2

3
n\z nlog(n))
og”n

xs.o( G
X o plog?
vo (HF

-0 Ejlog(n))

Question ID : 630680203940
Status : Answered
Chosen Option : D

Q16 Consider a system with physical memory size of 4 frames and a
page reference string: 1, 2, 3,4, 1, 2, 5, 1, 2, 3, 4, 5. Using the FIFO
(First-In-First-Out) page replacement algorithm, determine the
number of page faults. Assume initially, the frames are empty.

Ans X A9

 B.10
xcs
X D11

Question ID : 630680755139
Status : Answered
Chosen Option : B

Q.17 Which of the following statements is FALSE?
Ans X A L*is asubset of L*

% B. abaab* = abaabbbb

K C. (L") =L*

@ D.If L* = L+, then L is an empty set

Question ID : 63068081730
Status : Answered
Chosen Option : D

Q.18 A syntax directed definition is:
Ans X A. an unrestricted grammar

/X B. a context-sensitive grammar
4 C. a context-free grammar

X D. aregular grammar

Question ID : 63068063146
Status : Answered
Chosen Option : C

Q.19 Which of the following statements about program counter is correct?
Ans X A. Every instruction is fetched from external memory at the address in the program
counter, and stored in the data register
«” B. Every instruction is fetched from external memory at the address in the program
counter, and stored in the instruction register.
X C. Every instruction is fetched from external memory at the address in the program
counter, and stored in the memory address register.
X D. Every instruction is fetched from external memory at the address in the program
counter, and stored in the accumulator.

Question ID : 630680137160
Status : Answered
Chosen Option : B

Q.20 What is the other name for a postfix expression?
Ans  # A. Reverse polish notation

X B. Infix notation
25 C. Normal polish notation

25 D. Warsaw notation

Question ID : 63068065425
Status : Answered
Chosen Option : A
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Q.21 Fill in the blank to complete the following sentence by using the correct preposition.
1 will call at your office some time the morning.

Ans X A.on
" B.in
X C.around
X D.at

Question ID : 630680776333
Status : Answered
Chosen Option : B

Q.22 Which of the following statements about domain constraints are correct?
(a).A valid set of values for an attribute.

(b). The data type of domain includes string, date, time and currency.

(c). Primary key value cannot be null.

(d). It is specified between two tables.

Ans # A aandb

X B.bandc

X C.a,bandc
K D.a,b,candd

Question ID : 630680121127
Status : Answered
Chosen Option : C

Q.23 Specify the statement.

P1- Direct implementation of normal static scope rule for nested functions is done by
adding access link pointer to each activation record.

P2- Global variables are allocated static storage for the languages that doesn't allow
nested procedure declarations.

Ans  # A. Both P1 and P2 are true
75 B.Only P1is true
X C.Only P2is true
7% D. Both P1 and P2 are false

Question ID : 630680133946
Status : Not Answered
Chosen Option : --

Q.24 If there are 6 units of resource R in the system and each process in the system
requires 2 units of resource R, then how many processes can be present at maximum
so that no deadlock will occur?

Ans X A7
X B.4
#C.5
X D.6

Question ID : 63068061823
Status : Answered
Chosen Option : C

Q.25 Check the following condition whenever a transaction Ti executes a Read (X)
operation:

Ans X A IfW_TS(X) >TS(Ti)
o B.IfW_TS(X) <= TS(Ti)
2 C.IFTS(X) < W_TS(Ti)
# D.IFTS(Ti) < R_TS(X)

Question ID : 630680121138
Status : Answered
Chosen Option : B

Q.26 Which of the following is NOT a constant?
Ans o A “abc”

XB.23
Xcw
X D.1.447

Question ID : 63068066216
Status : Answered
Chosen Option : A
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Q27 satch the items in List-l with the items in List-II.

List-I List-II

a. Bharat Nirman Yojana 1. Rural Housing

b. National Food for Work Programme 2. Merged with SGSY
c. Indira Awas Yojana 3. Merged with SGRY
d. Supply of improved tool kits to rural artisans | 4. Rural infrastructure

Ans X A. a-4,b-2,c-1,d-3
« B.a-4,b-3,¢c-1,d-2
X C.a-2,b-4,c1,d-3
X D.a-4,b-1,¢c2,d3

Question ID : 630680134182
Status : Not Answered
Chosen Option : ==

Q.28 Which structure prohibits the sharing of files and directories?
Ans X A. One level directory

X B. Two level
” C. Tree structure

X D. Three level

Question ID : 630680177943
Status : Not Answered
Chosen Option : --

Section : Section D

Q.1 is a solution to process starvation.
Ans  # A Aging

X B. Deadlock
X C. Slicing
25 D. Prevention

Question ID : 630680177944
Status : Answered
Chosen Option : A

Q.2 Seven students, A, D, V, |, S, O and R, are sitting around a circular table facing the
centre. S sits immediately to the right of D and immediately to the left of I. Only one
person sits between | and A. V sits immediately to the right of O. Who sits immediately
to the right of R?

Ans X A.S
& B.A
xcl
X DO

Question ID : 630680546324
Status : Answered
Chosen Option : B

Q.3 Consider the following productions
S — aS|BA|CD, A — a|Da, B — aalaC, C — aCb|cC|CC.
After removing all the useless production from G, which of the following grammar will
be equivalent to G?

Ans X A.S—aS|ajaa
X B.S—aS|aA
«” C. S—aS|aaa
X D.S—aS|BaB—aa

Question ID : 630680196330
Status : Answered
Chosen Option : C

Q.4 A program S reads marks of 500 students whose range is 0 to 100 and prints the
frequency of each score above 50. What would be the best way to store frequencies?

Ans X A.Adynamically allocated array of 550 numbers
#5 B. An array of 500 numbers
75 C. An array of 100 numbers
" D. An array of 50 numbers

Question ID : 63068065427
Status : Answered
Chosen Option : C
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Q.5 Find the number of solid spherical balls of diameter 27 cm that can be made by
melting 25 solid hemispheres of radius 54 cm.

Ans X A 64
X B.32
% C. 400
« D. 800

Question ID : 630680374113
Status : Answered
Chosen Option : D

Q.6 Consider the following transition table of a Mealy machine with q; as a start state.

Present Input a=10 Inputa=1
State State output State | Output
a o, |0 @ o

9 q, 1 % 0

93 % 1 9 1

9 4y 1 9 0

‘What will be the output enumerated by the given machine after processing the string 01101010 on it?
Ans X A.01010110
X B. 11110000
5 C. 10101100
«” D. 01010101

Question ID : 63068081733
Status : Answered
Chosen Option : D

Q.7 With respect to connection-oriented and connection-less communication services,
match the entries in Column A with Column B.

Column A Column B

I- Reliable byte stream A- Electronic junk mail
II- Reliable Message Stream B- Voice over IP

III- Unreliable Connection C- Movie Download
IV- Unreliable datagram D- Sequence of Pages

Ans # A I-D, II-C, llIl-A, IV-B
5 B.I-C, II-D, llI-B, IV-A
2 C.I-D, II-C, lI-B, IV-A
# D.I-D, II-A, 1lI-C, IV-B

Question ID : 630680146728
Status : Not Answered
Chosen Option : --

Q.8 Time complexity of radix sort, used on a set of n elements, each K digits long, is:
Ans X A. O(K log K)

< B. O(n log K)

& C.O(n)

" D. O(nK)

Question ID : 630680203952
Status : Answered
Chosen Option : D

Q.9 Find the inappropriate answer in reference to Sparse index?
Ans  # A ltis faster than dense indices.

25 B. Largest search key value
25 C. Sparse indices require less space.

25 D. Records appear only for a few items.

Question ID : 630680121132
Status : Answered
Chosen Option : C
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Q.10 Path compression algorithm is used during which of the following operations?
Ans & A Find set operation

75 B. Insert set operation
X C. Make set operation

7% D. Create set operation

Question ID : 63068095110
Status : Answered
Chosen Option : A

Q.11 DNS have two types of servers: primary and secondary. What is the use of the
secondary server? (select the most appropriate)

Ans X A.Foralarge ‘zone’, the primary stores half of the zone information and the secondary
have the rest.
«” B. It transfers the complete zone information from another server.

X C. It creates and updates zone information.

75 D. It does nothing, just a replica of the primary.

Question ID : 63068099824
Status : Not Answered
Chosen Option : --

Q.12 Consider the Grammar G (V={S,A,B},T={a,b,c},S,P) where V is a non-empty set of
variables or non-terminals, T is a set of terminals, S is a start symbol and P is a set of
production rules given as follows:

S$—Aa,$—B,B—~A,B—bb,A—a,A—bc,A-B
Then, which of the following production sets is equivalent to grammar G after
removing all unit productions?

Ans X A.S—Aa,S—bc,S—bb,B—a,B—bb,B—bc ,A—a,A—bc,A—bb
X B.S—Aa,S—a,S—bc,S—bb,B—a,B—bb,B—bc ,A—a,A—bc
«” C. S—>Aa,S—a,S—bc,S—bb,B—a,B—bb,B—bc ,A—a,A—bc,A—bb
K D. S—Aa,S—a,B—a,B—bb,B—bc ,A—a,A—bc,A—bb

Question ID : 630680137089
Status : Answered
Chosen Option : C

Q.13 The basic purpose of creating VLAN (Virtual LAN) is:
Ans  # A VLANSs decrease the number of broadcast domains while decreasing their size

#% B. VLANSs increase the number of collision domains while decreasing their size
X C.VLANSs increase the number of broadcast domains while decreasing their size

72X D. VLANS greatly reduce the unnecessary network security in local LAN

Question ID : 630680200677
Status : Answered
Chosen Option : C

Q.14 An instruction MUL 4567 is a:
Ans X A. 3 address instruction format

X B. 2 address instruction format
X C. 0 address instruction format

«” D. 1 address instruction format

Question ID : 630680192589
Status : Not Answered
Chosen Option : --

Q.15 The given array is arr = {1,2,3,4,5} (bubble sort is implemented with a flag variable).
The number of iterations in selection sort and bubble sort, respectively, are:

Ans X A.Oand4
" B.1and4
X C.5and 4
2 D.4and1

Question ID : 63068076335
Status : Answered
Chosen Option : D
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Q.16 How many memory accesses are required for 3 address instructions?
Ans @ AT

X B.21
xc.3
X D.14

Question ID : 630680137151

Status : Answered

Chosen Option : C

Q.17 Specify the statement.
P1- For removing conflicts, we have to specify operator precedence and associativity.
P2- For removing conflicts, we have to restructure the grammar.

Ans X A. Only P2is true
" B. Both P1 and P2 are true
X C.Both P1 and P2 are false
X D.Only P1is true

Question ID : 630680133943

Status : Not Answered

Chosen Option : --

Q.18 Which of the following is NOT a salient feature of microfinance institutions (MFls)?
Ans X A. These institutions offer loans to individuals who belong to the low-income group.
27X B. The loans that are offered by these institutions are of small amount and are known as
microloans.
< C. MFls give loans to those people who want to start up a business of their own, without
any security or collateral.
«” D. MFIs provide loans to borrowers for a long period. Once they repay the loan, they
can again opt for another loan.

Question ID : 630680195219

Status : Not Answered

Chosen Option : --

Q.19 Identify one word for the following group of words.
“a set of straps and fittings with which a horse or other draught animal is fastened to a
cart, plough etc.”

Ans X A.hammock
X B.saddle
«” C. harness
X D. anchor

Question ID : 630680776339

Status : Not Answered

Chosen Option : --

Q.20 QORA is related to XVYH in a certain way based on the English alphabetical order. In
the same way, XFUR is related to EMBY. To which of the following is KEIC related,
following the same logic?

Ans X A RUPL
o B.RLPJ
2 C.SNOK
2 D.sMaK

Question ID : 630680582729

Status : Answered

Chosen Option : B

Q.21 Reorder the following sentences to form a meaningful paragraph.

M.Sukanya had gone to take a bath in a river when the holy man asked her not to
disturb him.

N. The princess was vain and once earned the wrath of an ascetic.

0. A Hindu legend has it that the Gangetic dolphin was once a beautiful princess,
called Sukanya.

P. The vain princess was turned into a dolphin, susaka.

Q.The princess continued bathing. The enraged ascetic cursed her to a life in the river.

Ans X A.P,O,M,N,Q
& B.ONMQP
X C.OMN,PQ
X D.O,M PN, Q

Question ID : 630680776338

Status : Answered

Chosen Option : B
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Q.22 If you want to search an element in the given sorted array of ‘n’ elements by using
binary search techniques, where n is a power of 2, then which of the following options
represents the recurrence relation of binary search?

M2 on _[ 1ifn=1
- TM) ={1(n/2) +c.ifn>1

_ B 1,ifn=1
X& T(n) = {7T{n/2) +e,ifn>1

Lifn=1
xc T(n)= [ZT(n/Z) +c,ifn>1

Lifn=1
x0.T(n) =[T(n—1)+c,ifn> 1

Question ID : 630680120468
Status : Answered
Chosen Option : A

Q.23 If the time for a merging operation is proportional to n, then which of the following
options represents the recurrence relation of merge sort, where n represents the
number of elements to be sorted and a ,c are constants?

Ans aifn=1

xXaTm) = {T(n/Z) +en,ifn>1

. T(n)—[ aifn=1
v 5 = 19T(n/2) + en,ifn > 1

Lifn=1
xc Tm) = [T(n/z) +c,ifn>1

. _ l,ifn=1
x0. T(n)= {2T(n/2) te,ifn>1

Question ID : 630680120470
Status : Answered
Chosen Option : B

Q.24 By how much is 30% of 75 greater than 30% of 35?
Ans X A7

X B.9
X C. 14
& D. 12

Question ID : 630680745723
Status : Answered
Chosen Option : D

Q.25 A certain computer system has the segmented paging architecture for virtual memory.
The memory is byte addressable. Both virtual and physical address spaces contain
216 bytes each. The virtual address space is divided into 8 non-overlapping equal size

g ts. The y 1t unit (MMU) has a hardware segment table, each

entry of which contains the physical address of the page table for the segment. Page
tables are stored in the main memory and consist of 2 byte page table entries..
Assume that each page table entry contains (besides other information) 1 valid bit, 3
bits for page protection and 1 dirty bit. Find the number of frames in the main memory.
Assume that page size is 512 bytes.

Ans X A. 4 bits
# B. 5bits

o C. 7 bits
% D. 8 bits

Question ID : 630680140005
Status : Not Answered
Chosen Option : --

Q.26 What is the rank of India in the Network Readiness Index-20227?
Ans X A 74

X B.g2d

X c.a37h

« D. 61

Question ID : 630680353919
Status : Not Answered
Chosen Option : --
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Q.27 During winter, the average temperature of Chennai,on the eastern coast remains

between
Ans X A 40-45°C

« B.24-25°C
X C.30-35°C
X D.15-20°C

Question ID : 630680511093
Status : Not Answered
Chosen Option : --

Q.28 Ariz-i-mamalik was the head of which department in Sultanate administration?

Ans X A.Revenue
X B. Religious
« C. Military
7% D. Foreign

Question ID : 630680309312
Status : Not Answered
Chosen Option : --

Section : Section E

Q.1 [f Xis an array, then which of the following is illegal?

Ans o A X+
X B.X*+2
X C.x
75 D. X+1

Question ID : 630680213019
Status : Answered
Chosen Option : A

Q.2 Which of the following statements is true?
Ans  # A. DFAs with all states are final-state DFAs.

75 B. NFA contains dead state.

27X C. Every DFAis NFA and every NFA is DFA.

X D. Ifinitial and final are two distinct states, then only DFA will accept A.

Question ID : 630680196320
Status : Answered
Chosen Option : B

Q.3 Inthe , the size of the shift is determined by looking at the character ¢ of

the text that is aligned against the last character of the pattern.

Ans  # A. Horspool’s algorithm

25 B. Boyer-Moore algorithm
25 C. Knuth-Morris-Pratt algorithm

75 D. Warshall's algorithm

Question ID : 63068061898
Status : Not Answered
Chosen Option : --

Q.4 BSAis an example of alan
Ans X A. shift instruction

X B. arithmetic
#X C. data transfer

«” D. program control

instruction.

Question ID : 630680137157
Status : Not Answered
Chosen Option : --
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Ans

Q.5 Which of the following states receives average rainfall less than 100 cm?

25 A. West Bengal
" B. Rajasthan
X C. Tripura

7% D. Odisha

Question ID : 630680511173
Status : Not Answered
Chosen Option : --

Ans

«” A. Pseudocode is typically concerned with the issues of software engineering.
#5 B. Indentation indicates block structure.

75 C. The symbol ‘//’ indicates that the remainder of the line is a comment.

Q.6 Which of the following statements is INCORRECT about pseudocode conventions?

X D. Issues of data abstraction, modularity and error handling are often ignored in order to

convey the essence of the algorithm more concisely.

Question ID : 630680120449
Status : Not Answered
Chosen Option : --

Ans

The room was extremely messy. cushions lay on the floor.
X A. enlarged

X B. largely
25 C. enlarge

«” D. large

Q.7 Fill in the blank to complete the following sentence by using the correct adjective.

Question ID : 630680776330
Status : Not Answered
Chosen Option : --

Q.8

What is the output of the following code?

int main()

{

int a=65;
switch(a+=1)
{

case 'B":

E

case 1:
a+=4;

}
printf("%d",a);
return 0;

}

A 69
X B.66
X C.65
X D.64

Question ID : 63068066223
Status : Answered
Chosen Option : A

Ans

device can be used to connect them?
« A. Gateway

% B. Switch
25 C. Bridge
7 D. Hub

Q.9 If two computers that use different connection-oriented transport protocols, which

Question ID : 63068099797
Status : Answered
Chosen Option : A
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Q.10 The Tower of Hanoi problem is easily solved using
Ans X A. Backtracking

" B. dynamic programming
X C. divide and conquer technique
X D. greedy method

Question ID : 630680155550
Status : Answered
Chosen Option : B

Q.11 Identify the meaning for the given idiom.
“hold one’s tongue”

Ans X A. To be first to make an accusation
«” B. Remain silent
X C. Crack a joke

X D. To say something very consciously

Question ID : 630680776340
Status : Answered
Chosen Option : B

Q.12 Which of the following statements is/are true?
S$1- Small x's under the address bus lines are always assigned to high-order bus lines.
S$2- A memory address map is a pictorial representation of assigned address space for
each chip in the system.

Ans X A. Both statements S1 and S2 are false
" B. Only statement S2 is true
X C. Both statements S1 and S2 are true
X D. Only statement S1 is true

Question ID : 63068094465
Status : Not Answered
Chosen Option : --

Q.13 In the absence of a congestion signal, the senders should decrease their rates. When
a congestion signal is given, the senders should decrease their rates. The way in
which the rates are increased or decreased is given by a:

Ans  # A. control law
X B. flow statistics
X C. control flow
X D. flow analysis

Question ID : 63068083013
Status : Not Answered
Chosen Option : --

Q.14 What was the imum limit of ory Liquidity Ratio (SLR) recommended by the
Narasimham Committee?

Ans X A 15%

« B.25%
X C.35%
X D.22%

Question ID : 630680195228
Status : Not Answered
Chosen Option : --

Q.15 Which of the following is a regular expression of any context-free grammar?
Ans XA oP

& B. (x+y)', where ‘I is imaginary

X C.(pna)

o D.c*a*

Question ID : 63068081789
Status : Answered
Chosen Option : D
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Q.16 Which of the following data structures uses FIFO method of accessing elements?
Ans X A Tree

«” B. Queue
X C. Stack
7% D. Linked list

Question ID : 63068076319
Status : Answered
Chosen Option : B

Q.17 The Karbi-Anglong Plateau is located in which part of India?
Ans X A. Eastern Rajasthan

#X B. Coastal Odisha
«” C. North-eastern states

75 D. Western Ghats

Question ID : 630680511179
Status : Not Answered
Chosen Option : --

Q.18 A temple from which of the following states has introduced a mechanical elephant to
perform the temple rituals?

Ans X A. Uttar Pradesh
X B. Karnataka
«” C. Kerala
75 D. Gujarat

Question ID : 630680302108
Status : Not Answered
Chosen Option : --

Q.19 Three of the following four pairs of letter-clusters are alike in some manner and hence
form a group. Which pair does not belong to that group?

Ans X A.RV-LP
X B.WA-QU
X C.LP-FJ
& D.CG-XD

Question ID : 630680344160
Status : Answered
Chosen Option : D

Q.20 In a complete graph on 4 vertices, the edge weights are as follows:

Edge(1, 2) cost 5

Edge(1, 3) cost 10

Edge(1, 4) cost 2

Edge(2, 3) cost 20

Edge(2, 4) cost 15

Edge(3, 4 ) cost 6

The total weight of minimum spanning tree is:

Ans X A. 36

X B.31

X co17

& D. 13

Question ID : 630680203947
Status : Answered
Chosen Option : D

Q.21

Consider the grammar G; and G; given by the following rules.
S—¢lash| SS and  S—¢ aSbs| SS
Confirm the correct answer from the following options.

A g LG S LGy
x 8 L(G)=L(Gy)
x e L(G) 2 L(G)
X D Gyissuffix of G2

Question ID : 630680196332
Status : Answered
Chosen Option : A
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Q.22 In order to perform network management tasks, SNMP uses the SMI protocol. SMI
uses BER to encode data in triplet format: tag, length and value. What will be the
equivalent encoded data for the OCTET STRING ‘Ab’?

Ans X' A.00000010 00000010 01000001 01100010
4 B. 00000100 00000010 01000001 01100010
Z< C. 00001000 00000010 01100001 01000010
2 D. 00010000 00000010 01000001 01100010

Question ID : 63068099831
Status : Not Answered
Chosen Option : --

Q.23 If any string is pumped by pumping lemma, then it:
Ans X A. None of the given options

X B.is definitely regular
7% C.is context free

«” D. may or may not be regular

Question ID : 630680196323
Status : Answered
Chosen Option : D

Q.24 Which of the following is/are true about the third normal form?
a.Dependency preserving decomposition
b.A lossless join
c.Every non-prime attribute of R is non-transitively dependent on every key of R.
d.Each of its functional dependencies X — A, where X is a superkey.

Ans X A.b,candd
X B.a,bandc
@ C.a,b,candd
X D.a,candd

Question ID : 630680121130
Status : Answered
Chosen Option : B

Q.25 Select the set in which the numbers are related in the same way as are the numbers of
the given sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such as
adding /deleting /multiplying to 13 can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed.)

5-20-30-50
7-28-38-58

Ans X A.4-16-26-36
X B.12-48-58-88
o C.9-36-46-66
75 D.10-40-60-80

Question ID : 630680467210

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.26 A solid hemisphere metal is melted to recast in the shape of a right circular cylinder of
diameter 18 cm and height 162 cm. The radius of the hemisphere is:

Ans X A.18cm
X B.22cm
« C.27cm
2 D.25¢cm

Question ID : 630680375020
Status : Not Answered
Chosen Option : --

Q.27 There are three taps A, B and C of diameters 3 cm, 4 cm and 5 cm, respectively. The
ratio of water flowing through them is equal to the ratio of squares of their diameters.
The biggest tap C alone can fill an empty tank in 80 minutes. If all the taps are opened
simultaneously, then find the time (in minutes) required for the tank to be filled.

Ans  # A40
X B.60

% C.50
# D. 100

Question ID : 630680745730
Status : Answered
Chosen Option : A
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Q.28 A new email has been composed and sent to the following addresses as follows:
From: testemail@somedomain.com
To: helloemail@somedomain.com
Cc: helloemail@somedomain.com
Bcc: helloemail@somedomain.com
How many copies of the above email(s) will be delivered to the receiver
‘helloemail@somedomain.com’?

Ans X A. Four
X B.Three
" C.One
X D.Two

Question ID : 63068099825
Status : Answered
Chosen Option : C
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